2017410H5H KH 1R %D M EDOILE 2% 3 0 TR

R BIEDILBEHBEDILE 2% 3 0FUT go()m Ef;l_ k- = %ﬁ:wo‘ 7;} 47.5, 28.5, 195M ’i }
= s o # 1 291 V)| BRIERBMERS 534 59 434 21 444 19 454 5
Y5ILy FR 2% RIE B4 L BF 1:29.0 L—R5 v JHaR : SSS 92 SSH 29 SMS 16 SWM_6 Grart d
R PEEE | PEEYR | BEXES F bR E AR HTE=RER }Eﬁa BHE GE_ ¥, E) B 2f1B=L—2% |, T4vT 952 3fiE= %IIE EH - BE - AR A
#|E| & E % B F | HEEHEZT|S £2651237 SAE - 8 BF-AE 2. 3. 4MEBIEM 5TH=3EHE - 0 BiRE 24 L LEAY3
2@ | B 2 |eNES/Ag|FH  4muT I UREL . NTR. SEL) WIRES FAL ;Bﬁﬁs%ﬁ R-b~dfh - 3 ~Af - 1&3F(5~1) Y 3 FIEk
(& 8| Bow) ME | 2 5@ | #1408 |Bm =i S\Iﬁkg::égm L—REYBFAAL - HBEOEYIFEAL > 0.5 DBAKTE MTH=1EEXE2EE (FE) 1. 2. SEEOWHE
Bx EAyX | BFERM | oA | M BEFR| My 700 BiE IR E 3FERT AFERT SFERT
AVARTAVY 2|10 B[ ... | KZ0001 |FM00.00 |17.0813 26 X3 |17.07.30 KF
J4Awa [E=ES W40000 [F 0000 | 2EEE #E | feid
54.0 .160 N 0.0.00 | F=0.0.0.1 |5 638 2% 1A W 588
11 ALUE—H— = | WA 0.0.00 | F/40.000 | 427 FEEH 54 @3 | 424
(F7U—1) K# 177 FEH0.0.0.1 [ F£0.000 |1200m & & 1:18:9 42.9|800m %  51.0
%1 | 0.0.0.1 £40001 [ -5 8SS 359-39.3 521 (5
BHERE 0.0.0.0 | 30500580 | £ 0.0.0.0 | 758 0000 [ b5 (3.7) £
O—XF 275 L 42 ;gﬁ = R %go 0.0.7 | 7@ 0.0.0.0 127%%9%%7273F A3t 1&9_%.15 KF
H S B n 0.0.0.0 [ F 0000 HE | ge
TS vTIVIR |50 a0 %0000 | F=0000 |5 95 8% 5A  Ast ]
2|0 | #=Fvzok B | % A 0000 | F/40001 | 507 ENR 54 ©O6|512 KB
(FUHARTVE) K 1N FEHX0.0.00 [ F£0.000 | 1600m & B 1:48:7 41.3|800m &  52.4
———[%]] 0.0.0.1 | 0001 |£50001 [--®-----|SSM 39.6-38.9 321 (5
EEinth 0.0.0.1 | 02020580 | £ 0.0.0.0 |28 0000 [ ¥4 47K 97(2.9) %kE
FTRAFUTEL 2 ;gﬁh I x;o 0.0.1 | F/E0.0.0.0 [17.0015 ~17F %:_r# 11.(%&:3.31 KF
= == . T i A4 0.0.0.0 | F 0000 | 2mEE B | BEE
3TTI9IR 54.0 103 JI%0000 | FZ0001 |5 T1ZEIOEION Ast 788
3lo|vnsrrzura B | EF8R A 0.0.0.0 | F/500.0.0 | 526 ehitid 54 @D | 526 hFtiy
(7 R4 ¥ RA) K3t 104 FA0.0.00 [ F£0.000 |1200m & B 1:17:6 39.8|800m &  52.2
——[#]| 0001 | #0001 |[£540001 | -® .- SSS 36.5-39.6 233 (4)
EFHER 0.0.0.1 | 0500580 | £ 0.0.0.0 | ¢2i8 0000 [ 704744 (1.5)  ksksB
SURUG AT H2 ;7 " EEEE xgo 0.0.1 | F740.0.0.0 17,%%1?5%—3242 g# %7(3% 15 KF
- 1§ 84 0.0.0.0 [F 0000 |2 ] [
=vyalIq b 0 . 0000 [F=0001 |8 1188 9% 9A 4 53
A1 A | 499N omy 7- B | 3 A 0.0.0.0 | F750.0.0.0 | 429 FIMEEK 54 @D | 433 FnEE
(Silver Deputy) 0.0.0.0 | F¥£0.0.0.0 | 1200m # E 1:18:8 39.8 | 800m % 52.8
——[£] 0.0.0.1 |+ -®:-v-- SSS 36.5-39.6 123 (4)
BEFEX 0.0.0.0 [ 28 0000704745 (2.7)  Beskig
r—troLrX 42 0.0.0.1 [ F™0.0.0.0 17%%5%70¥ RHF* ]L'%?'SO K#H
JTEEN _ 0.0.0.0 [ F 0000 |2 #HE | #ed
b—tE2L—TZ 0 0.0.00 | ¥= 0000 |8 9$4§3A ]
5 RE—F—)L B | 5% 0.0.0.0 [ F7/X0.0.0.1 | 514 EHK 54 515 IRFH
(B=/FLLY b #* . 0.0.0.0 | F+0.0.0.0 | 1600m 4 B 1:53:5 45.6 800m & 52.4
«—[#]| 0001 | =0 0.0.0.1 | - @« -+ SSM 39.6-38.9 231 (8)
B 0.0.0.0 | #05£0%0i80 | £ 0.0.0.0 | 528 0000 [ ¥ 474 97(7.7) HkkE
R=JF¥LLUYF 2 [ -1 T |AHO0004 [FEE0000 |17.09.11 -28%F K3 | 17.08.31 -29F A3 | 17.08.10 -40F A3 | 17.07.30 -32:& A3 |11.0].14 KF
AU R L R 44 0.0.0.0 [ F 0000 [68.0F 2% | 15.0F 2% | 50.0F 2% 21‘3’&%&% #E | #EER
54.0 .077 JNI%0.000 | F=0.004 |8 1388 5B11A 9  148813FI2A k4|8 988 9% 8A k4[5 688 6& 6A 588
5(6 24¥0Y K Z | EF8R 40000 | F/0.00.0 |445 0 LR 54 ©@ | 445 +6 #EIFE 54  ©O | 439 -6 LLIFE 54 445 LR 54 QB | 445 e
(7 KA ¥ RA) K 104 FA0.0.0.1 [ F£0.00.0 |1200m & B 1:18:5 41.1|1200m & B 1:18:9 42.5 [ 1200m 4 # 1:19:5 41.3 | 1200m & F 1:19:5 42.5[800m &  53.9
———[%]1] 0.0.0.4 | 0001 |£50004 | --® @ -® SSS 36.8-39.0 321 (11) | SSS 35.8-40.4 412 (10) | SSS 36.5-38.8 131 (6) | SSS 36.9-38.8 411 (6)
B ER 0.0.0.3 | #0502£0580 | £ 0.0.0.0 | 428 000 1 [ 35505 %29 (2. 7) k% | 7oh-n9-(2.7) k% | Th-1iE-1(4.2) HHE | I5(bY LV (3.8)  kE
F3HI5TF 42 ;’g# B ﬁ;::azo 0.0.7 [ FEH0.0.0.0 127,09.}?5%—353!2 gg 17E08 15 K Lé_og 30 KH*
N - E3 £0.0.0.0 | F 0.0.0.0 RESH e
TV=2NAF9T |55 15 150000 | F=0000 [6 98 1% 6A B 5% 55
S5(7(a1f75/5uz54— B | Zm# 0000 | FX0001 [485 SFH 54 @GO |476 RIHHE 488 IR
(7 R4 ¥RR) K 165 EX0000 [ F+0000 |1600m & B 1:49:5 42.3|800m &  52.1 800m &%  55.6
——[#]| 0.0.0.1 |£0001 |[£40001 | -® ---- SSM 39.6-38.9 331 (7)
AiEHE 3 0000 [d280000| %4474 97Q3.7) FKkzE
TANNTTFH— #2 0.0.0.7 | FP90.0.0.0 1130&9.%)1?5%43%1 ;}c_r# %%512 R
N =S 0000 | F 0000 |2 L L
b—t2s5—2a 0 . 0.0.0.0 [ 20000 |7 058 2% 8A K 658
8 ARY Y SR 2 | B5E 0000 | FX0.001 [418 FEES4 QQD|441 FEE
(RRYX LG 4—2) K 239 FH0.0.00 [ F£0.00.0 | 1600m & B 1:50:1 42.1800m &  52.9
——[#]| 0.0.0.1 | %0001 [£540001 | D -+-- SSM 39.6-38.9 231 (6)
SIS 0.0.0.1 | 30500580 | £320.0.0.0 | ©2:8 0000 [ $5 47 % y7(4.3) sExkzE
FOXTATFA 2 —1%% I 70 0.0.2 | 7740.0.0.2 %03_;_1 kD xg 17%3%,2?8:—44i§ ;cﬁ# %Li)g 15 RFF
N S I\, R4 0.0.0.0 | F+ 0.0.0.0 2 2 5 £l
TAATDIAN 54.0 051 150000 | F=0000 |7 135 9% oA 6 63 5% 5A
9 THIATYILIN— | AR KB 13370 | #A0.0.0.0 | F/50.0.0.0 | 455 -4 /NHh#R 54 BDO| 459 /IR 54 @@@ | 475 /J\Mﬂi
(*vRvysL—y) A 195 KB 13370 | A 0.0.0.0 [ F£0.0.0.0 | 1400m & B 1:33:7 42.2| 1400m 4 B 1:34:3 43.7|800m #  52.9
—[#]] 0002 | 0001 [|£40002 | -@-®---|SSS 37.6-41.2 143 (6) | SMS 37.5-39.7 431 (4)
AR 0.0.0.2 | 05020580 | £ 0.0.0.0 | &2:8 0000 | L{F14759-(2.3)  %kkse | $95 -0 -4 (4.8) k3
TUHARIOFR 42 I—JJZ%DH B ;EZO0.0.I FEH0.0.0.0 [ 17.08.28 —62 3% g# 17EQ€30 K
RS £0.0.0.0 | F 0000 |2 2 B | B
7T/H—LZZR 54.0 .245 N50000 | F=0001 |6 95 4% 1A 458
7(10 TSAF4FNR—F B | igE SHA0.0.0.0 | F550.0.0.0 | 467 (Ll 54 ©® | 488 I
(Forest Wildcat) Kt 204 EH0.0.00 [ F£0000 |1200m & B 1:21:0 43.1|800m &  53.3
———[%1| 0.0.0.1 £40001 [+---®---|SSM 36.9-37.6 331 (7)
AEE 0.0.0.1 | #0%03£0i80 | £3 0.0.0.0 | 4@ 0000 | E419=4(6.5) 3365 3%
SURJHIURAIRX H2 | =16 T | KZ0003 [FMEO000.T [17.09.11 -16F A3 |[17.05.25 -33F A3 |17.0508 -46=& A3t | 1704 21 KF
RAF ¥ 7 EAE 4 0.0.0.0 | F 0000 |68.0TF 2% 2 % 2% 2 WIS w5 R
55.0 . 181 JNIZ 0000 | F=0002 |5 1388 2&1A W |6 788 5% SN 8  8EIE TN 688
7|11 PR YAV B | mmf KB 13308 | #%0.0.0.0 [ F750.0.0.0 | 518 +11 EIF#E 54 @@D | 507 -6 &NIE 54 ©O | 513 #A%E 54 QD | 515 £HE
(BVRA vHE—Y) K3 .232| AR 13306) | 4 0.0.0.0 | F40.0.0.0 | 1400m & B 1:33:0 42.1 [ 1200m 4 B 1:20:2 42.5 [ 1200m 4 B 1:20:5 43.1|800m %  53.3
———[%]] 0.0.0.3 20001 |£50003 |- ® - SSS 37.6-41.2 433 (4) | SSS 36.3-38.5 311 (6) [ SSS 35.8-40.0 231 (8)
EBE 0.0.0.1 | 3050080 | £ 0.0.0.0 | 28 0000 | L4F2h759-(1.6)  Se3ksk | /027 (5.4) i I/ @47 P ¥iv ]
O—SXA o A4 2|10 B ::::: |KZ0002 |FmM0002 [17.0/.28 -15% K3 |17.00.14 22 X3 |17.06.09 RFt
O—LYEa7 HIE 54 0.0.0.0 | F 0000 |68 0F 2% | 2mEB 5 | ARt
-~ 54.0 193 NZ 0000 | F=0000 |7 83 6% 5A 6 75 4% 6A 458
8 (12| a2l Ea7H1vELF HEE | JEIC KE 13366 | #40.0.0.0 | F750.0.0.0 |436 -3 XFfK 54 ©OG| 439 %% 54 ©DD|431 XHEK
(Fo% %) A 121 KB 1336@©) | TA0.0.0.0 [ F£0.0.0.0 | 1400m & B 1:34:0 43.2| 1400m 4 B 1:33:6 40.6 | 800m #  52.5
%] | 0.0.0.2 £450002 |- SSS 37.4-41.6 342 (6) | SSM 38.9-39.0 232 (5)
HWETK 0.0.0.0 | #050%£0580 | £%0.0.0.0 | & 1% 397V (2.3) B | YI-M4-(2.7) £k
RAXAT R 42 ;Jz;;x EEEE mzo 0.0.T [ F 127,08.28 58 & g# 17 Q€ 15 KH*
NS _ 15 £0.0.0.0 | F B | #Ed
YU ET7—R L+ 55.0 . 260 JI%0.0.0.0 | F 5 O 2BAN W 588
8 [13 YRE—ILFLY B | A A 0.0.00 | F 470 #IB3 54 66| 472 miBx
(FTRRFSHN) K 190 EX0000 | F 1200m % R 1:20:7 42.9|800m &4  54.4
———[%1| 0.0.0.1 £400.0.1 [ - - SSM 36.9-37.6 321 (6)
R — 0.0.0.1 | #05£02£0i80 | £ 0.0.0.0 E/Hbaz (6. 2) 33653
KF S — N 1400miB4H B AR (SEEH#RA : 2015.10.03~2017. 10. 02) BHTE BER 3 E MR
|[:tod EHES HERES 1F 2% 3&F &S BE xR % %% 1 2 3 456 7 8
1 YLSAN—F 137 16 15 1 95 0.117 0.226 3 @ (3%M=E) 23 21 23 23 23 22 20 19
2 HYRYA4TSR 186 16 14 18 138 0.086 0.161
3 O—SXA UAq 116 16 10 9 8 0.138 0.224 7 FHRSV T/ 2L RAIEG
4  d—LEFYa—L m 15 10 14 72 0.135 0.225 ; B % 3158 HIFHAT (534, 544) 4 okx
5  AH*REFY 68 13 4 4 41 0.191 0.250 fi ﬂ & E; 1278 ]ﬁéég E434, 4453 3 wkk
6  YURYIYRIR 57 13 1 5 38 0.228 0.246 4 @@ # F. 4085 Y (255,355 1 %
1 BALIRSFEYHR 14 12 13 78 0.105 0.219 ® BAL:1:31.0 SBULVAA (335, 245) 2
8 /q4nO 9% 1210 8 65 0.126 0.232
9 Yr—3zyFy 131 1 15 10 95 0.084 0.198 ® @
10 tys/aJAq 88 9 7 4 68 0.102 0.182 5 @520

o e _ . . N Sz, YHOFGERL, HERE, BTEAERE, $NTEMERITOMBEREMAELTREWL,
2017/E10A5H KH 1R AEDILFEEEMEOIE 2% 3 0 TU T 5 7Ly FR 2% ilE 1400m X—F « 45 4 ) = KO BOWE e E T,



